LA EBEREIR RSN EinE
20245 E

EAAFR IIHadTFEBESEFEHRD
sy L PR AR S A 1E T AE.
S g 2. GBI AE, FREEFERR T, REENEERS.
e 3. MK =AM+ F REXIRAEE,
WU B E R KPR HBL+TFEEB A m—RE AL, WHERHISL, ERARH.
P NALEE
A4
IR
B 4 0 133. 47
— M AT T & 132. 24
B4 0
on A A 0
R AR S 0
ﬁ%(ﬁ WA P45 HE 1 4 0
78 ARG 4 123
H A4 0
JetE A4
THRIT L TR EL
Wi HEARSH 46 115. 87
WiH 3 17.6
BEL% 5 TR TRA B 3 17.6
HARL. HRRERAIIIAZEEEEEN, FRERSREIZTKE, RS “—#H 7 ELER
FVTH “EHE” EAEFMMX A+ F2TRMKR, ERREE. X AR, SERS. F04E
LAY S5 S A1, fRERLOAE, RSIRE “ERET G,
HAR2. b5 GBI AE. L SBRI+F7oEREEHE., NERE L, SRS, a+
P H FHEDE, NBIFAFRETZRAE BU568aHrHsURkR, HpEEE, SEE K
A RAZAVIEH B, 48 APRRRIBIEE NEERS, 8N e TR NNERS .
HARS. K =A XA 3 RR . NS = A & R E SR Rng, fRARfEshdsr
K=mat+rFElh— iR B P EBESALE], BRI ME . AR FA L 55 Bk sl (1) AR 45 Fr
F T AE
HArl: EHREL+FE8SREIMES ST FIFEI MR S E1E.
R B HAr2: TFR—IRMEACIRIES), 10092308 N5 IRE, NE NS Rt NIERS .
i HAR3: RSP aaSmSmiE. RS — kK= Al hEEs.
— Rk TR AR =248 hr FAEFR A EESRIME
el R AR o) e 4 fi 4 fe 4=
Tkl 2
AR 5 {4 1 fi 4 fe 4
S B AR T Seiii =
e H bR — =
SR AR I /2o A
e g | R 2 g -
S—— TR Gl B2 PRk A2
TR G 1) T G bR G EA
TR A =0% =0%
A B R =100% =100%
A AT H =36% =100%




LR AR

=0%

TS AT
ARG T2 <100% <100%
CERGT BHFE <0% <0%
BURF R AT % =100% =100%
JEREN TR 52 2 =100% =100%
T A A A fa 4 fa 4
PG A EM
— BUE A R =100% =100%
HentfE Bk k- 563
i TR AR B ATFRE AFF A
RN A R A ER
R 7 R ) P {4 fa 4 fa 4
T AR = SRR PSIREEA ZSRIEA
[i] 7€ B R =100% =100%
. T5L A5 I R A fa 4 {4
NS R=giil
5L H A PR FEPAAT R 1 PSIREEA ZSRIEA
N G B 1 R A A {4 {4
N N DU BRI FEPAAT A Rt AR [
FEIR N Gz ) 5% =100% =100%
B LA RN e =100% =100%
MU 1 b5 2 23 5 B B e =100% =100%
Lo N R AR ok AR [
— R Fahn /&= 100 HT T B LD PAE AR SRR
XM A XA I TR AME IR =0k =1k
B IPE B 28I R AR T Bl =0k =1k
- HIBAT T Eg%giik 15 & AT B SR E I =108 =104
AR A B RO 100% 51 1004 58
H=mk 5
K=MXIEAE WﬁﬁmﬁWi ATE SN =0k =1k
&=t T dR bR = YRR PAEFR AR AR
2N SV §ol
THRK =M XHRME, (bl se | LA PME H S AT IME B
s WEME. EFEIK R by by
&R =t E%E@%Eﬁ%}ﬁ,%@ﬁk L00% 78 L00%
A5 RS
AR
CIEsEs: 201
%&%WAEN&%%F%W%% ~90% ~00%
YN =g R 55 %of G il 7 =
&S5 N GO RS S T R =90% =90%




